Sample problem:

Number of trays (including reboiler and condenser)=5;

y_D=0.85;

x_B=0.15

R=1.41138;

N_F=3;

F=200kmol;

x_F=0.5; 

D=100kmol;

B=100kmol;

When feed is all liquid,

Nominal values for flow rates:

L=R*D;

V=D+L;

REMEMBER THAT CHEMCAD NUMBERS EQUATIONS FROM THE TOP BUT THE HANDOUT I GAVE YOU USES THE CONVENTION OF NUMBERING EQUATIONS FROM THE BOTTOM.  THUS IF YOU HAVE 10 TRAYS AND CHEMCAD SAYS THAT TRAY 4 IS THE FEED LOCATION, THEN IN YOUR MATHEMATICAL MODEL, THE FEED TRAY IS TRAY 6.  

Model equations:

1.Tray number-1 (Reboiler)
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which implies
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2. Tray number-2 
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    which implies
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3. Tray number-3 (Feed tray)
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  which implies
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4. Tray number-4


[image: image7.wmf]i

i

i

i

i

i

i

i

i

i

y

V

x

L

y

V

x

L

x

M

-

-

+

=

-

-

+

+

1

1

1

1

.


which implies
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5. Tray number –5 (condenser)
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  which implies
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